Oh Deer Activity 

Objectives:

· Identify factors necessary for animal survival

· Assess how human interactions can affect wildlife populations

Background:  

A variety of factors affect the ability of wildlife to successfully reproduce and maintain their populations over a period of time. Among these factors include resource availability, disease, predator/prey relationships, varying impacts of weather conditions, accidents, environmental pollution, and habitat destruction and degradation.  Some limiting factors serve to prevent wildlife populations from reproducing in numbers greater than their habitat can support, or carrying capacity. An excess of such limiting factors, however, leads to threatening, endangering, and eliminating whole species of animals.  The most fundamental of life's necessities for any animal are food, water, shelter and space in suitable arrangements. Without these essential resources, animals cannot survive.

Humans interact with the environment and thus interact with the wildlife. Humans need lumber to build homes, they need water to ensure that crops do not die and they clear underbrush to create trails etc. While these practices are monitored, there are still areas of the world where human interaction can be detrimental to the wildlife populations. As discussed earlier the world is a fragile place that relies on each living thing, and if one population is affected negatively (or positively) then the rest of the world will react. 
Pre Lab Questions:

Define the following terms: 

1. Carrying Capacity – The population number that can exist in an environment
2. Limiting Factor – Ex: Disease, Something that can control the population. In specific quantities 
3. Predator – A species that consumes another species for food or resource 

4. Prey –  A species that is consumed by a predator
5. Habitat – Environment in which predators and prey live
6. Describe one place where you have seen or heard of humans interacting positively with the environment

7. Describe one where you have seen or heard of humans interacting negatively with the environment

Materials: 

· None are required for this game

Procedures: 

No Human Interaction:

1. Students are separated into two groups.

a. Group one is deer

b. Group two is resources

2. Groups stand across the field with their backs to each other.

3. Each resource picks what they will be

a. Water – cover mouth

b. Food – hands on stomach 

c. Shelter – hands over head

4. Each deer picks what they will be looking for (also makes the hand gesture) 

a. Water 

b. Food 

c. Shelter 

5. When the whistle blows, everyone turns to face each other. 

6. Deer then skip across the field looking for their resource. (must match)

7. When the find their resource they must walk them back to the deer side

8. Deer that do no find their resources must sit on the ground, they become resources during the next cycle.

9. Data is collected by one person on data table one

10. Repeat steps 4-11 for 10 cycles (note: each cycle represents one year)

11. Share Data

Human Interaction:

12. Students are re - separated into two groups.

a. Group one is deer

b. Group two is resources

13. Groups stand across the field with their backs to each other.

14. Each resource picks what they will be

a. Water – cover mouth

b. Food – hands on stomach 

c. Shelter – hands over head

15. Each deer picks what they will be looking for (also makes the hand gestures)

a. Water 

b. Food 

c. Shelter 

16. During each round the humans (teacher and student data collector) will determine which resource they will remove from the area.

a. At this point have the resources choose what they will be, the teacher will go and remove the resource from the area.

17. When the whistle blows, everyone turns to face each other.

18. Deer then skip across the field looking for their resource (they must match)

19. When the find their resource they must walk them back to the deer side

20. Deer that do no find their resources must sit on the ground, they become resources for the next cycle.

a. Individuals that were removed during the last round sit out for two cycles and then return as resources

21. Data is collected by one person on data table two

22. Repeat steps 4-11 for 10 cycles (note: each cycle represents one year)

23. Share Data

Data Collection:

Data Table #1: No Human Interaction

	Year
	Number of Deer 10
	Number of Resources 10

	1
	6
	14

	2
	6
	14

	3
	6
	14

	4
	6
	14

	5
	6
	14

	6
	6
	14

	7
	6
	14

	8
	6
	14

	9
	2
	18

	10
	2
	18


Data Table #2 – Human Interaction

	Year
	Number of Deer 10
	Number of Resources 10
	Number of Hunters

	1
	1
	1
	2

	2
	1
	3
	2

	3
	3
	8
	2

	4
	1
	5
	2

	5
	
	
	

	6
	
	
	

	7
	
	
	

	8
	
	
	

	9
	
	
	

	10
	
	
	


Graph 

Graph class data in a line graph (you will have seven lines total):

· Choose one color, and different line patterns for data table one

· Choose a different color and different line patterns for data table two
· Include a title, x-axis label, y-axis label, and key.  Check your scale.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Post Lab Questions:

1. Did the deer population reach carrying capacity in data table one?  

How do you know?  

2. Describe what occurred when the human interaction destroyed the land area in data able two

3. Describe what occurred when the human interaction lessened in data table two

4. What do animals need to survive?  What are some limiting factors that affect their survival?

5. What are some other limiting factors that might affect populations?

6. Are wildlife populations static (unchanging), or do they tend to fluctuate?  

What causes it to do this?

7. Why did we run the game longer then two cycles? 
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